



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(5 + \frac{1}{2})^2 + \frac{2}{5} - \frac{3}{5} \times 2^2 =$$

$$((\frac{1}{2})^2 - \frac{1}{3}) \times \frac{2}{3} - (\frac{1}{6} + \frac{1}{3})^2 =$$

$$(\frac{2}{3} - \frac{1}{2})^2 - \frac{1}{5}(\frac{1}{2} - \frac{3}{5}) =$$

$$(\frac{1}{5} - \frac{2}{3})^2 - \frac{1}{5}(\frac{1}{4} + (\frac{1}{2})^2) =$$

$$(3 - \frac{1}{2})^2 + \frac{3}{2} \times 2^2 - \frac{1}{4} =$$

$$(\frac{1}{3} + (\frac{3}{2})^2) \times \frac{1}{2} - (\frac{2}{5} + \frac{1}{3})^2 =$$

$$(\frac{1}{2} - (\frac{1}{3})^2) \times \frac{1}{5} - (\frac{1}{2} - \frac{1}{5})^2 =$$

$$(\frac{1}{2} + \frac{1}{3})^2 - \frac{3}{4}(\frac{3}{5} - \frac{2}{5}) =$$

$$(\frac{1}{3} - \frac{1}{5})^2 - \frac{2}{5}(\frac{1}{3} - (\frac{2}{3})^2) =$$

$$(\frac{1}{3} + \frac{3}{2})^2 - \frac{2}{3}(\frac{3}{4} - \frac{3}{4}) =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(5 + \frac{1}{2})^2 + \frac{2}{5} - \frac{3}{5} \times 2^2 = \frac{113}{4} = 28\frac{1}{4}$$

$$((\frac{1}{2})^2 - \frac{1}{3}) \times \frac{2}{3} - (\frac{1}{6} + \frac{1}{3})^2 = (-\frac{11}{36})$$

$$(\frac{2}{3} - \frac{1}{2})^2 - \frac{1}{5}(\frac{1}{2} - \frac{3}{5}) = \frac{43}{900}$$

$$(\frac{1}{5} - \frac{2}{3})^2 - \frac{1}{5}(\frac{1}{4} + (\frac{1}{2})^2) = \frac{53}{450}$$

$$(3 - \frac{1}{2})^2 + \frac{3}{2} \times 2^2 - \frac{1}{4} = 12$$

$$(\frac{1}{3} + (\frac{3}{2})^2) \times \frac{1}{2} - (\frac{2}{5} + \frac{1}{3})^2 = \frac{1357}{1800}$$

$$(\frac{1}{2} - (\frac{1}{3})^2) \times \frac{1}{5} - (\frac{1}{2} - \frac{1}{5})^2 = (-\frac{11}{900})$$

$$(\frac{1}{2} + \frac{1}{3})^2 - \frac{3}{4}(\frac{3}{5} - \frac{2}{5}) = \frac{49}{90}$$

$$(\frac{1}{3} - \frac{1}{5})^2 - \frac{2}{5}(\frac{1}{3} - (\frac{2}{3})^2) = \frac{14}{225}$$

$$(\frac{1}{3} + \frac{3}{2})^2 - \frac{2}{3}(\frac{3}{4} - \frac{3}{4}) = \frac{121}{36} = 3\frac{13}{36}$$